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" D :1.8V
DS0221SR 252
S0221S 5 Ob‘»fln Y 50V
B —SHHE DS03215R 322591 CRSORIERZLSNIEEI—R(FIEC) FTTHRETEL,
BHEd— R e REIE
® B R | mam HARBARE | s : % #
=F P min. Typ. max. =<1y
A +3.0 +3.3 +3.6
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BREE c * 32.768=fo<50 vee [ioom ey +275 v
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EUZEJvs (1) *® * * tp-p - 150 - ps Peak to peak
c—=&ILIvsy (1) * * * tTL - 220 - ps | tDJ+n"tRJ n=14.1(BER=1%10""2) (2)
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Pin Connections

Pin No.

Connection

OE(Output Enable)

%)

Function
#linput
H
Open
L

#3 output condition
Oscillation out
Oscillation out
High Z

(SURING— (8E))
(Top View)

Pin Connections

OE(Output Enable)
ND

Connection
Output

#3 output condition

(GYRINS—2(8E))
(Top View)

Oscillation out
Oscillation out
High Z




